T15 (Typed by 无邪天使)


GWD-TN-12

T-4-Q1 TS-7-41
Scientists have dated sharp-edged flakes of stone found in the fine-grained sediments of a dry riverbed in the Afar region of Ethiopia to between 2.52 and 2.60 million years ago, pushing back by more than 150,000 years the earliest date when it is known that humans made stone tools.
A. when it is known that humans made

B. at which it is known that humans had made

C. at which humans are known to have made

D. that humans are known to be making

E. of humans who were known to make

T-4-Q2

Twenty years ago, Balzania put in place regulations requiring operators of surface mines to pay for the reclamation of mined-out land. Since then, reclamation technology has not improved. Yet, the average reclamation cost for a surface coal mine being reclaimed today is only four dollars per ton of coal that the mine produced, less than half what it cost to reclaim surface mines in the years immediately after the regulations took effect.

Which of the following, if true, most helps to account for the drop in reclamation costs described?

A. Even after Balzania began requiring surface mine operators to pay reclamation costs, coal mines in Balzania continued to be less expensive to operate than coal mines in almost any other country.

B. In the twenty years since the regulations took effect, the use of coal as a fuel has declined from the level it was at in the previous twenty years.

C. Mine operators have generally ceased surface mining in the mountainous areas of Balzania because reclamation costs per ton of coal produced are particularly high for mines in such areas.

D. Even after Balzania began requiring surface mine operators to pay reclamation costs, surface mines continued to produce coal at a lower total cost than underground mines.

E. As compared to twenty years ago, a greater percentage of the coal mined in Balzania today comes from surface mines.

T-4-Q3

Currently 26 billion barrels a year, world consumption of oil is rising at a rate of 2 percent annually.
A. world consumption of oil is rising at a rate of

B. the world is consuming oil at an increasing rate of

C. the world’s oil is being consumed at the increasing rate of

D. the rise in the rate of the world’s oil consumption is

E. oil is consumed by the world at an increasing rate of

T-4-Q4

Turning away from literary realism to write romantic stories about the peasant life and landscape of northern Sweden, in 1909 Selma Lagerlof was the novelist who became the first woman and was also the first Swedish writer to win the Nobel Prize for Literature.

A. Turning away from literary realism to write romantic stories about the peasant life and landscape of northern Sweden, in 1909 Selma Lagerlof was the novelist who became the first woman and was also the first Swedish writer to win

B. She turned away from literary realism and wrote romantic stories about the peasant life and landscape of northern Sweden, and novelist Selma Lagerlof in 1909 became the first woman as well as the first Swedish writer that won

C. Selma Lagerlof was a novelist who turned away from literary realism to write romantic stories about the peasant life and landscape of northern Sweden, and in 1909 she became the first woman in addition to the first Swedish writer winning

D. A novelist who turned away from literary realism to write romantic stories about the peasant life and landscape of northern Sweden, Selma Lagerlof became in 1909 the first woman and also the first Swedish writer to win

E. As novelist, Selma Lagerlof turned away from literary realism and wrote romantic stories about the peasant life and landscape of northern Sweden, in 1909 becoming the first woman and also the first Swedish write that won

T-4-Q5-Q7

     Although many lines of evidence indicate that birds evolved from ground-dwelling theropod dinosaurs, some scientists remain unconvinced. They argue that theropods appeared too late to have given rise to birds, noting that Archaeopteryx lithographica – the oldest known bird – appears in the fossil record about 150 million years ago, whereas the fossil remains of various nonavian maniraptor theropods – the closest known relatives of birds – date only to about 115 million years ago. But investigators have now uncovered bones that evidently belong to nonavian maniraptors dating to the time of Archaeopteryx. In any case, failure to find fossils of a predicted kind does not rule out their existence in an undiscovered deposit. Skeptics also argue that the fused clavicles (the “wishbone”) of birds differ from the unfused clavicles of theropods. This objection was reasonable when only early theropod clavicles had been discovered, but fossilized theropod clavicles that look just like the wishbone of Archaeopteryx have now been unearthed. Finally, some scientists argue that the complex lungs of birds could not have evolved from theropod lungs, an assertion that cannot be supported or falsified at the moment, because no fossil lungs are preserved in the paleontological record.


T-4-Q5

The primary purpose of the passage is to
A. compare the development of two hypotheses concerning the evolutionary origin of birds

B. suggest revisions to the standard theory of the evolutionary history of birds

C. evaluate the usefulness of fossil evidence in determining the evolutionary history of birds

D. challenge the theory that birds evolved from ground-dwelling theropod dinosaurs

E. respond to criticisms of the theory that birds evolved from ground-dwelling theropod dinosaurs

T-4-Q6

In the context of the passage, the phrase “fossils of a predicted kind”(line 16) most likely refers to which of the following?
A. Theropod fossils with fused clavicles

B. Theropod fossils that are similar in structure to Archaeopteryx fossils

C. Theropod fossils dating back more than 150 million years

D. Fossils indicating the structure of theropod lungs

E. Fossils indicating the structure of Archaeopteryx lungs

T-4-Q7

Which of the following is mentioned in the passage as an argument made by scientists who are unconvinced that birds evolved from theropod dinosaurs?
A. There are no known theropod dinosaur fossils dating from a period after the time of Archaeopteryx.

B. There are no known theropod dinosaur fossils that indicate the structure of those dinosaurs’ lungs.

C. Theropod dinosaurs appear in the fossil record about 150 million years ago.

D. Theropod dinosaurs did not have fused clavicles.

E. Theropod dinosaurs had certain bones that look just like those of Archaeopteryx.

T-4-8~11:GWD-13-16~19
     In 1675, Louis XIV established the Parisian seamstresses’ guild, the first independent all-female guild created in over 200 years. Guild members could make and sell women’s and children’s clothing, but were prohibited from producing men’s clothing or dresses for court women. Tailors resented the ascension of seamstresses to guild status; seamstresses, meanwhile, were impatient with the remaining restrictions on their right to clothe women.

    The conflict between the guilds was not purely economic, however.  A 1675 police report indicated that since so many seamstresses were already working illegally, the tailors were unlikely to suffer additional economic damage because of the seamstresses’ incorporation. Moreover, guild membership held very different meanings for tailors and seamstresses. To the tailors, their status as guild members overlapped with their role as heads of household, and entitled them to employ as seamstresses female family members who did not marry outside the trade. The seamstresses, however, viewed guild membership as a mark of independenc the patriarchal family.  Their guild was composed not of family units but of individual women who enjoyed unusual legal and economic privileges. At the conflict’s center was the issue of whether tailors’ female relatives should be identified as family members protected by the tailors’ guild or as individuals under the jurisdiction of the seamstresses’ guild.

------------------------------------------------------------------

T-4-8:GWD-13-16:

The primary purpose of the passage is to

A. outline a scholarly debate over the impact of the Parisian seamstresses’ guild

B. summarize sources of conflict between the newly created Parisian seamstresses’ guild and the tailors’ guild

C. describe opposing views concerning the origins of the Parisian seamstresses’ guild

D. explore the underlying reasons for establishing an exclusively female guild in seventeenth-century Paris

E. correct a misconception about changes in seamstresses’ economic status that took place in Paris in the late seventeenth century

------------------------------------------------------------------
T-4-9: GWD-13-17:

According to the passage, one source of dissatisfaction for Parisian seamstresses after the establishment of the seamstresses’ guild was that

A. seamstresses were not allowed to make and sell clothing for all women

B. tailors continued to have the exclusive legal right to clothe men

C. seamstresses who were relatives of tailors were prevented from becoming members of the seamstresses’ guild

D. rivalry between individual seamstresses increased, thus hindering their ability to compete with the tailors for business

E. seamstresses were not allowed to accept male tailors as members of the guild

-----------------------------------------------------------------
T-4-10:GWD-13-18:

It can be inferred from the passage that which of the following was true of seamstresses employed by relatives who were members of the tailors’ guild?

A. They were instrumental in convincing Louis XIV to establish the seamstresses’ guild.

B. They were rarely allowed to assist master tailors in the production of men’s clothing.

C. They were considered by some tailors to be a threat to the tailors’ monopoly.

D. They did not enjoy the same economic and legal privileges that members of the seamstresses’ guild enjoyed.

E. 

They felt their status as working women gave them a certain degree of independence from the patriarchal family.

------------------------------------------------------------------
T-4-11:GWD-13-19:

The author mentions the seamstresses’ view of guild membership as a “mark of independence from the patriarchal family” (lines 40-41) primarily in order to

A. emphasize that the establishment of the seamstresses’ guild had implications that were not solely economic

B. illustrate the conflict that existed between tailors and their female family members over membership in the tailors’ guild

C. imply that the establishment of the seamstresses’ guild ushered in a period of increased economic and social freedom for women in France

D. provide an explanation for the dramatic increase in the number of women working as seamstresses after 1675

E. indicate that members of the seamstresses’ guild were financially more successful than were tailors’ female relatives protected by the tailors’ guild

T-4-Q12

For the farmer who takes care to keep them cool, providing them with high-energy feed, and milking them regularly, Holstein cows are producing an average of 2,275 gallons of milk each per year.
A. providing them with high-energy feed, and milking them regularly, Holstein cows are producing

B. providing them with high-energy feed, and milked regularly, the Holstein cow produces

C. provided with high-energy feed, and milking them regularly, Holstein cows are producing

D. provided with high-energy feed, and milked regularly, the Holstein cow produces

E. provided with high-energy feed, and milked regularly, Holstein cows will produce

Q13 GWD-24-35（CD-10-35）
The milk of many mammals contains cannabinoids, substances that are known to stimulate certain receptors in the brain. To investigate the function of cannabinoids, researchers injected newborn mice with a chemical that is known to block cannabinoides from reaching their receptors in the brain. The injected mice showed far less interest in feeding than normal newborn mice do. Therefore, cannabinoids probably function to stimulate the appetite.

Which of the following is an assumption on which the argument depends?
A. Newborn mice do not normally ingest any substance other than their mothers’ milk.

B. Cannabinoids are the only substances in mammals’ milk that stimulate the appetite.

C. The mothers of newborn mice do not normally make any effort to encourage their babies to feed.

D. The milk of mammals would be less nutritious if it did not contain cannabinoids.

E. The chemical that blocks cannabinoids from stimulating their brain receptors does not independently inhibit the appetite.

T-4-Q14 GWD-13-38
Frobisher, a sixteenth-century English explorer, had soil samples from Canada’s Kodlunarn Island examined for gold content.  Because high gold content was reported, Elizabeth I funded two mining expeditions.  Neither expedition found any gold there.  Modern analysis of the island’s soil indicates a very low gold content.  Thus the methods used to determine the gold content of Frobisher’s samples must have been inaccurate.

Which of the following is an assumption on which the argument depends?

A. The gold content of the soil on Kodlunarn Island is much lower today than it was in the sixteenth century. 

B. The two mining expeditions funded by Elizabeth I did not mine the same part of Kodlunarn Island.

C. The methods used to assess gold content of the soil samples provided by Frobisher were different from those generally used in the sixteenth century.

D. Frobisher did not have soil samples from any other Canadian island examined for gold content.

E. Gold was not added to the soil samples collected by Frobisher before the samples were examined.

T-4-Q15
TrueSave is a mail-order company that ships electronic products from its warehouses to customers worldwide. The company’s shipping manager is proposing that customer orders be packed with newer, more expensive packing materials that virtually eliminate damage during shipping. The manager argues that overall costs would essentially remain unaffected, since the extra cost of the new packing materials roughly equals the current cost of replacing products returned by customers because they arrived in damaged condition.

Which of the following would it be most important to ascertain in determining whether implementing the shipping manager’s proposal would have the argued-for effect on costs?
A. Whether the products shipped by TrueSave are more vulnerable to incurring damage during shipping than are typical electronic products.

B. Whether electronic products are damaged more frequently in transit than are most other products shipped by mail-order companies

C. Whether a sizable proportion of returned items are returned because of damage already present when those items were packed for shipping

D. Whether there are cases in which customers blame themselves for product damage that, though present on arrival of the product, is not discovered until later

E. Whether TrueSave continually monitors the performance of the shipping companies it uses to ship products to its customers

T-4-Q16
Humans have been damaging the environment for centuries by overcutting trees and farming too intensively, and though some protective measures, like the establishment of national forests and wildlife sanctuaries, having been taken decades ago, great increases in population and in the intensity of industrialization are causing a worldwide ecological crisis.
A. though some protective measures, like the establishment of national forests and wildlife sanctuaries, having been taken decades ago, great increases in population

B. though some protective measures, such as the establishment of national forests and wildlife sanctuaries, were taken decades ago, great increases in population

C. though some protective measures, such as establishing national forests and wildlife sanctuaries having been taken decades ago, great population increases

D. with some protective measures, like establishing national forests and wildlife sanctuaries that were taken decades ago, great increases in population

E. with some protective measures, such as the establishment of national forests and wildlife sanctuaries, having been taken decades ago, great population increases

T-4-Q17
Galileo did not invent the telescope, but on hearing, in 1609, that such an optical instrument had been made, he quickly built his own device from an organ pipe and spectacle lenses.
A. Galileo did not invent the telescope, but on hearing, in 1609, that such an optical instrument had been made, he

B. Galileo had not invented the telescope, but when he heard, in 1609, of such an optical instrument having been made,

C. Galileo, even though he had not invented the telescope, on hearing, in1609, that such an optical instrument had been made, he

D. Even though Galileo did not invent the telescope, on hearing, in 1609, that such an optical instrument had been made,

E. Even though Galileo did not invent the telescope, but when he heard, 1609, of such an optical instrument being made, he

T-4-Q18 天山-7-17
As a large corporation in small country, Hachnut wants its managers to have international experience, so each year it sponsors management education abroad for its management trainees. Hachnut has found, however, that the attrition rate of graduates from this program is very high, with many of them leaving Hachnut to join competing firms soon after completing the program. Hachnut does use performance during the program as criterion in deciding among candidates for management positions, but both this function and the goal of providing international experience could be achieved in other ways. Therefore, if the attrition problem cannot be successfully addressed, Hachnut should discontinue the sponsorship program. 

In the argument given, the two boldfaced portions play which of the following roles?

A. The first describes a practice that the argument seeks to justify; the second states a judgment that is used in support of a justification for that practice.

B. The first describes a practice that the argument seeks to explain; the second presents part of the argument’s explanation of that practice.

C. The first introduces a practice that the argument seeks to evaluate; the second provides grounds for holding that the practice cannot achieve its objective.

D. The first introduces a policy that the argument seeks to evaluate; the second provides grounds for holding that the policy is not needed.

E. The first introduces a consideration supporting a policy that the argument seeks to evaluate; the second provides evidence for concluding that the policy should be abandoned.

T-4-Q19

Aroca City currently funds its public schools through taxes on property. In place of this system, the city plans to introduce a sales tax of three percent on all retail sales in the city. Critics protest that three percent of current retail sales falls short of the amount raised for schools by property taxes. The critics are correct on this point. Nevertheless, implementing the plan will probably not reduce the money going to Aroca’s schools. Several large retailers have selected Aroca City as the site for huge new stores, and these are certain to draw large numbers of shoppers from neighboring municipalities, where sales are taxed at rates of six percent and more. In consequence, retail sales in Aroca City are bound to increase substantially.

In the argument given, the two potions in boldface play which of the following roles?
A. The first is an objection that has been raised against a certain plan; the second is a prediction that, if accurate, undermines the force of that objection.

B. The first is a criticism, endorsed by the argument, of a funding plan; the second is a point the argument makes in favor of adopting a alternative plan.

C. The first is a criticism, endorsed by the argument, of a funding plan; the second is the main reason cited by the argument for its endorsement of the criticism.

D. The first is a claim that the argument seeks to refute; the second is the main point used by the argument to show that the claim is false.

E. The first is a claim that the argument accepts with certain reservations; the second presents that claim in a rewarding that is not subject to those reservations.

T-4-Q20 天山-7-22
The violent crime rate (number of violent crimes per 1,000 residents) in Meadowbrook is 60 percent higher now than it was four years ago. The corresponding increase for Parkdale is only 10 percent. These figures support the conclusion that residents of Meadowbrook are more likely to become victims of violent crime than are residents of Parkdale.

The argument above is flawed because it fails to take into account

A. Changes in the population density of both Meadowbrook and Parkdale over the past four years.

B. How the rate of population growth in Meadowbrook over the past four years compares to the corresponding rate for Parkdale

C. The ratio of violent to nonviolent crimes committed during the past four years in Meadowbrook and Parkdale

D. The violent crime rates in Meadowbrook and Parkdale four years ago

E. How Meadowbrooks’ expenditures for crime prevention over the past four years compare to Parkdale’s expenditures. 

T-4-Q21

The OLEX Petroleum Company has recently determined that it could cut its refining costs by closing its Grenville refinery and consolidating all refining at its Tasberg refinery. Closing the Grenville refinery, however, would mean the immediate loss of about 1,200 jobs in the Grenville area. Eventually the lives of more than 10,000 people would be seriously disrupted. Therefore, OLEX’s decision, announced yesterday, to keep Grenville open shows that at OLEX social concerns sometimes outweigh the desire for higher profits. 

Which of the following, if true, most seriously undermines the argument given?
A. The Grenville refinery, although it operates at a higher cost than the Tasberg refinery, has nevertheless been moderately profitable for many years.

B. Even though OLEX could consolidate all its refining at the Tasberg plant, doing so at the Grenville plant would not be feasible.

C. The Tasberg refinery is more favorably situated than the Grenville refinery with respect to the major supply routes for raw petroleum.

D. If the Grenville refinery were ever closed and operations at the Tasberg refinery expanded, job openings at Tasberg would to the extent possible be filled with people formerly employed at Grenville.

E. Closure of the Grenville refinery would mean compliance, at enormous cost, with demanding local codes regulating the cleanup of abandoned industrial sites.

T-4-Q22

Unlike mainstream American businesses, more than half of which fail, the failure rate for businesses in the Amish community hovers around 5 percent.
A. Unlike mainstream American businesses, more than half of which fail

B. Unlike mainstream American businesses, in which the failure rate is more than half 

C. Unlike mainstream American businesses, where more than half of them fail

D. While the rate of mainstream American businesses failing is more than half

E. While more than half of mainstream American businesses fail

Q23 GWD-24-36.（CD-10-36）
The Industrial Revolution, making it possible to mass-produce manufactured goods, was marked by their use of new machines, new energy sources, and new basic materials.
A. making it possible to mass-produce manufactured goods, was marked by their use of

B. making possible the mass production of manufactured goods, marked by the use of 

C. which made it possible that manufactured goods were mass-produced, was marked by their using

D. which made possible the mass production of manufactured goods, was marked by the use of

E. which made the mass production of manufactured goods possible and was marked by using
T-4-Q24~27: TS-7-33～36


Until recently, zoologists believed that all species of phocids (true seals), a pin-nipped family, use a different maternal strategy than do otariids (fur seals and 
sea lions), another pinniped family. Mother otariids use a foraging strategy. They acquire moderate energy stores in the form of blubber before arriving at breeding sites and then fast for 5 to 11 days after birth. Throughout the rest of the lactation (milk production) period, which lasts from 4 months to 3 years depending on the species, mother otariids alternately forage at sea, where they replenish their fat stores, and nurse their young at breeding sites. Zoologists had assumed that females of all phocids species, by contrast, use a fasting strategy in which mother phocids, having accumulated large energy stores before they arrive at breeding sites, fast throughout the entire lactation period, which lasts from 4 to 50 days depending on the species. However, recent studies on harbor seals, a phocids species, found that lactating females commenced foraging approximately 6 days after giving birth and on average made 7 foraging trips during the remainder of their 24-day lactation period.

The maternal strategy evolved by harbor seals may have to do with their small size and the large proportion of their fat stores depleted in lactation. Harbor seals are small compared with other phocids species such as grey seals, all of which are known to fast for the entire lactation period. Studies show that mother seals of these species use respectively 84 percent, 58 percent, and 33 percent of their fat stores during lactation. By comparison, harbor seals use 80 percent of their fat stores in just the first 19 days of lactation, even though they occasionally feed during this period. Since such a large proportion of their fat stores is exhausted despite feeding, mother harbor seals clearly cannot support all of lactation using only energy stored before giving birth. Though smaller than many other phocids, harbor seals are similar in size to most otariids. In addition, there is already some evidence suggesting that the ringed seal, a phocids species that is similar in size to the harbor seal, may also use a maternal foraging strategy.


T-4-24:T-733

It can be inferred from the passage that the females of all phocids species differ from the females of all otariid species in that the female phocids
A. have shorter lactation periods

B. consume more food during lactation

C. consume a higher proportion of fat stores

D. forage for food occasionally during their lactation periods

E. deplete a smaller percentage of their fat stores during their lactation periods

T-4-25:T-7-34

The primary purpose of the passage is to 
A. present evidence that several phocids species use the maternal fasting strategy

B. explain why the maternal strategy typically used by phocids is different from the maternal strategy used by otariids

C. argue that zoologists’ current understanding of harbor seals’ maternal strategy is incorrect

D. describe an unexpected behavior observed in harbor seals and propose an explanation that may account for the behavior

E. describe evidence concerning the maternal strategy of the harbor seal and suggest that the harbor seal belongs to the otariid rather than to the phocids family

T-4-26:T-7-35

According to the passage, until recently zoologists believed which of the following about all phocids mothers?
A. Their fasting periods after giving birth were typically shorter than those of otariids.

B. Their lactation periods were generally as long as those of comparably sized otariids.

C. They acquired only moderate energy stores in the form of blubber before arriving at breeding sites.

D. They depleted less than a third of their stored body fat during lactation.

E. The replenished their fat stores only after their lactation period ended.

T-4-27-T-7-36

The author of the passage mentions ringed seals most probably in order to 
A. 
provide an example of a phocid species that fasts throughout its entire lactation period

B. provide an example of a phocid species whose maternal strategy is typical of phocid species

C. provide an example of a phocid species that may deplete an even higher proportion of its fat stores during lactation than harbor seals do

D. support the assertion that harbor seals are smaller than many other phocids

E. support the assertion that harbor seals’ maternal strategy may be related to their small size

T-4-Q28

In Berinia, the age at which people could begin to drink alcohol legally used to be 18. In 1990, in an attempt to reduce alcohol consumption and thereby to reduce alcohol-related traffic deaths among Berinians under 21, the legal drinking age was raised to 21. Alcohol-related traffic deaths among people under 21 have decreased significantly since 1990. Nevertheless, surveys show that people in that age-group drink just as much alcohol as they did before 1990.

Which of the following, if true of Berinia, most help to resolve the apparent discrepancy?
A. For the population as a whole, annual alcohol consumption is no lower now than it was in 1990

B. Alcohol consumption away from home, for example in bars and restaurants, is much lower among people under 21 than it was in 1990

C. The proportion of people under 21 who own a car is higher now than it was in 1990

D. Alcohol consumption is lower among people under 21 than among adults in most other age-groups.

E. Alcohol-related traffic deaths among people over 21 have increased slightly since 1990.

T-4-Q29

In late 1997, the chambers inside the pyramid of the Pharaoh Menkaure at Giza were closed to visitors for cleaning and repair due to moisture exhaled by tourists, which raised its humidity to such levels so that salt from the stone was crystallizing and fungus was growing on the walls.
A. due to moisture exhaled by tourists, which raised its humidity to such levels so that salt from the stone was crystallizing

B. due to moisture that tourists had exhaled, thereby raising its humidity to such levels that salt from the stone would crystallize

C. because tourists were exhaling moisture, which had raised the humidity within them to levels such that salt from the stone would crystallize

D. because of moisture that was exhaled by tourists raising the humidity within them to levels so high as to make the salt from the stone crystallize

E. because moisture exhaled by tourists had raised the humidity within them to such levels that salt from the stone was crystallizing

T-4-Q30

Unlike the short flights of the shuttle and earlier spacecraft, which carried sufficient power in fuel cells and batteries, a permanently orbiting space station will have to generate its own electricity.
A. the short flights of the shuttle and earlier spacecraft, which carried sufficient power in fuel cells and batteries

B. the shuttle and earlier spacecraft, with sufficient enough power in fuel cells and batteries for their short flights

C. the short flights of the shuttle and earlier spacecraft, which enabled them to carry sufficient enough power in fuel cells and batteries

D. the shuttle and earlier spacecraft, which were capable of carrying sufficient power in fuel cells and batteries for their short flights

E. the flights of the shuttle and earlier spacecraft, whose shortness allowed them to carry sufficient power in fuel cells and batteries

T-4-Q31

As sources of electrical power, windmills now account for only about 2,500 megawatts nationwide, but production is almost expected to double by the end of the year, which would provide enough electricity for 1.3 million households.
A. almost expected to double by the end of the year, which would provide

B. almost expected that it will double by the end of the year, thus providing

C. expected that it will almost double by the end of the year to provide

D. expected almost to double by the end of the year and thus to provide

E. expected almost to double by the end of the year, which would thus be providing

T-4-Q32

Delta products, Inc., has recently switched at least partly from older technologies using fossil fuels to new technologies powered by electricity. The question has been raised whether it can be concluded that for a given level of output, Delta’s operation now causes less fossil fuel to be consumed than it did formerly. The answer, clearly, is yes, since the amount of fossil fuel used to generate the electricity needed to power the new technologies is less than the amount needed to power the older technologies, provided that the level of output is held constant.
In the argument given, the two boldface portions play which of the following roles?
A. The first identifies the context of the conclusion of the argument; the second provides support for that conclusion.

B. The first provides support for the conclusion of the argument; the second identifies the content of that conclusion.

C. The first states the position that the argument opposes; the second states the conclusion of the argument. 

D. Each provides evidence that calls the conclusion of the argument into question.

E. Each provides support for conclusion of the argument.

T-4-Q33

In attempting to solve the problems caused by a lowering of the price of oil, oil companies operating in the North Sea have taken a variety of approaches, which includes their reducing employment, using new technology to pump oil more efficiently from smaller fields, and finding innovative way to cut the cost of building and operating platforms.
A. which includes their reducing employment, using new technology to pump oil more efficiently

B. which includes reducing employment, using new technology to be more efficient in pumping oil

C. which include reducing employment, using new technology to pump oil more efficiently

D. which include the reduction of employment, their using new technology to pump oil more efficient

E. including a reduction of employment, their use of new technology to be more efficient at pumping oil

T-4-Q34

In Kravonia, the average salary for jobs requiring a college degree has always been higher than the average salary for jobs that do not require a degree. Current enrollments in Kravonia’s colleges indicate that over the next four years the percentage of the Kravonian workforce with college degree will increase dramatically. Therefore, the average salary for all workers in Kravonia is likely to increase over the next four years.
Which of the following is an assumption on which the argument depends?
A. Kravonians with more than one college degree earn more, on average, than do Kravonians with only one college degree.

B. The percentage of Kravonians who attend college in order to earn higher salaries is higher now than it was several years ago.

C. The higher average salary for jobs requiring a college degree is not due largely to a scarcity among the Kravonian workforce of people with a college degree.
D. The average salary in Kravonia for jobs that do not require a college degree will not increase over the next four years.

E. Few members of the Kravonian workforce earned their degrees in other countries.
T-4-Q35-Q37: GWD-13-24~26
     Anthropologists studying the Hopi people of the southwestern United States often characterize Hopi society between 1680 and 1880 as surprisingly stable, considering that it was a period of diminution in population and pressure from contact with outside groups, factors that might be expected to cause significant changes in Hopi social arrangements.  
     The Hopis’ retention of their distinctive sociocultural system (15) has been attributed to the Hopi religious elite’s determined efforts to preserve their religion and way of life, and also to a geographical isolation greater (20) than that of many other Native American groups, an isolation that limited both cultural contact and exposure to European diseases.  But equally important to Hopi cultural persistence may have been an inherent flexibility in their social system that may have allowed preservation of traditions even as the Hopis accommodated themselves to change. For example, the system of matrilineal clans was maintained throughout this period, even though some clans merged to form larger groups while others divided into smaller descent groups.  Furthermore, although traditionally members of particular Hopi clans appear to have exclusively controlled particular ceremonies, a clan’s control of a ceremony might shift to another clan if the first became too small to manage the responsibility.  Village leadership positions traditionally restricted to members of one clan might be similarly extended to members of other clans, and women might assume such positions under certain unusual conditions.

------------------------------------------------------------------

T-4-35:GWD-13-24:

The author of the passage would be most likely to agree with which of the following statements about the explanation outlined in lines 13-24?

A. It fails to take into account the effect of geographical circumstances on Hopi culture.

B. It correctly emphasizes the role of the religious elite in maintaining the system of matrilineal clans.

C. It represents a misreading of Hopi culture because it fails to take into account the actual differences that existed among the various Hopi clans.

D. It underestimates the effect on Hopi cultural development of contact with other cultural groups.

E. It is correct but may be insufficient in itself to explain Hopi sociocultural persistence.

-----------------------------------------------------------------
T-4-36:GWD-13-25:

Which of the following can be inferred from the passage about the Hopis’ geographic situation between 1680 and 1880?

A. It prevented the Hopis from experiencing a diminution in population.

B. It helped to promote flexibility within their social system.

C. It limited but did not eliminate contact with other cultural groups.

D. It reinforced the religious elite’s determination to resist cultural change.

E. It tended to limit contact between certain Hopi clans.

-----------------------------------------------------------------

T-4-37:GWD-13-26:

The passage is primarily concerned with

A. reassessing a phenomenon in light of new findings

B. assessing the relative importance of two factors underlying a phenomenon

C. examining the assumptions underlying an interpretation of a phenomenon

D. expanding on an explanation of a phenomenon

E. contrasting two methods for evaluating a phenomenon

T-4-Q38

In one state, all cities and most towns have antismoking ordinances, a petition entitled “Petition for Statewide Smoking Restriction” is being circulated to voters by campaign workers who ask only, “Do you want to sign a petition for statewide smoking restriction?” The petition advocates a state law banning smoking in most retail establishments and in government offices that are open to the public.

Which of the following circumstances would make the petition as circulated misleading to voters who understand the proposal as extending the local ordinances statewide?
A. Health costs associated with smoking cause health insurance premiums to rise for everyone and so affect nonsmokers.

B. In rural areas of the state, there are relatively few retail establishments and government offices that are open to the public. 

C. The state law would supersede the local antismoking ordinances, which contain stronger bans than the state law does.

D. There is considerable sentiment among voters in most areas of the state for restriction of smoking.

E. The state law would not affect existing local ordinances banning smoking in places where the fire authorities have determined that smoking would constitute a fire hazard.

T-4-Q39

Five hundred million different species of living creatures have appeared on Earth, nearly 99 percent of them vanishing.
A. Five hundred million different species of living creatures have appeared on Earth, nearly 99 percent of them vanishing.

B. Nearly 99 percent of five hundred million different species of living creatures that appeared on Earth have vanished.

C. Vanished are nearly 99percent of the five hundred million different species of living creatures that appeared on Earth.

D. Of five hundred million different species of living creatures that have appeared on Earth, nearly 99 percent of them have vanished.

E. Of the five hundred million different species of living creatures that have appeared on Earth, nearly 99 percent have vanished.

Q40 GWD-24-37.（CD-10-37）
Fish currently costs about the same at seafood stores throughout Eastville and its surrounding suburbs. Seafood stores buy fish from the same wholesalers and at the same prices, and other business expenses have also been about the same. But new tax breaks will substantially lower the cost of doing business within the city. Therefore, in the future, profit margins will be higher at seafood stores within the city than at suburban seafood stores.

For the purposes of evaluating the argument, it would be most useful to know whether
A. more fish wholesalers are located within the city than in the surrounding suburbs.

B. Any people who currently own seafood stores in the suburbs surrounding Eastville will relocate their businesses nearer to the city

C. The wholesale price of fish is likely to fall in the future

D. Fish has always cost about the same at seafood stores throughout Eastville and its surrounding suburbs.

E. Seafood stores within the city will in the future set prices that are lower than those at suburban seafood stores.
T-4-Q41 (大全987-73)
Alaska regularly deposits some of its profits from the sale of oil into a special fund, with the intention to sustain the state’s economy after the exhaustion of its oil reserves.
A. fund, with the intention to sustain the state’s economy after the exhaustion of its oil reserves

B. fund, the intention of which is to sustain the state’s economy after they have exhausted their oil reserves

C. fund intended to sustain the state’s economy after oil reserves are exhausted

D. fund intended to sustain the state’s economy after exhausting its oil reserves

E. fund that they intend to sustain the state’s economy after oil reserves are exhausted
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